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 Atomic number =  

 Average atomic mass: 

 #protons = #electrons  

Average atomic mass
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 What is the name of following?

N7

14

U92

238

C6

12

C6

14

?12

22

?83

208



 Same element with different  



 Average Atomic Mass on periodic table

 An average based on percent of occurrence of 

the different mass numbers

 EX: Lithium-7, Lithium-8, Lithium-6

 The periodic table reflects  



Element
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#
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Mass

#

Carbon -12

Gold - 199

Gold - 196

Carbon -14



Same element with  

Neutral atom:



Cation





Anion







 Pg 114 Red Book

 Sulfur sample

 Sulfur – 32 = 95.002%

 Sulfur – 33 = 0.76%

 Sulfur – 34 = 4.22%

 Sulfur – 36 = 0.014%

 What is the most common isotope of Sulfur?

 How does the most common isotope relate to 

the periodic table?



1.

2.

3.



 Sulfur sample

 Sulfur – 32 = 95.002%

 Sulfur – 33 = 0.76%

 Sulfur – 34 = 4.22%

 Sulfur – 36 = 0.014%

 Solution

 32 x .95002 =

 33 x 0.0076 =

 34 x 0.0422 =

 36 x .00014 =

 Add them:







 Element X has two isotopes. 

 The isotope with a mass of 10.012 amu has 

an abundance of 19.91%. 

 The isotope with a mass of 11.009 amu has 

an abundance of 80.09%. 

 Calculate the average atomic mass of 

element X.



 Element X has an average atomic mass of 

110.60 amu. If element X has 2 isotopes that 

have a mass of 109.90 amu and 110.88 amu, 

what is the % of the two isotopes?


